BORILLA oPORTS

Compact Rowing Machine
(10000617)




PUORILLA oPORTS

Big Washer
D32%P12%2

Washer: (#6) Washer: (#8)
4x <::::::> <::::::::::>
6x
1x

Carriage Bolt M10%*56
Cap nut M10

Arc washer k{DlO.Z Inner six angle bolt M8*16
T ) 0

Crosshead spanner
Cross bolt M6%*16

< {jm

1x Ax

Inner hexagon spanner S6 Screw ST4. 2%25

S |

1x

Inside PAN-HEAN bolt @8%104

O

1x




PUORILLA oPORTS

8 adjustable difficulty settings from 8-13KG
Suitable for heights: 130-188cm

Maximum weight capacity: 120KG

Dimensions (cm): 155x37x40




(F— )

Carriage Bolt M10%65-2PCS
Cap nut M10-2PCS
Arc washer I.D10.2-2PCS

J

Inner six angle bolt M8*16-2PCS

©

Washer (#8) —2PCS







SOd¥—(99) 1oysep

SIdP-9Tx9N 3109 SSO.I)

I




SJIdg-56¢%g VLS #9108




CkC1p*gee IoUsey 31g

Sod1-

SIdT-70T+8¢ 3109 NVHH-NVd ©PTsU]

O







	10000617划船器说明书 Model (1)
	10000617划船器说明书 Model (2)
	10000617划船器说明书 Model (3)
	10000617划船器说明书 Model (1)1
	10000617划船器说明书 Model (1)2
	10000617划船器说明书 Model (1)3
	10000617划船器说明书 Model (1)4
	10000617划船器说明书 Model (1)5
	10000617划船器说明书 Model (1)6

